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261 HHZIZ} 6,613,000 5,224,000 1,389,000
403 ARR|EASAH20|A 6,613,000 5,224,000 1,389,000
02 37|50 st CHai AL 6,613,000 5,224,000 1,389,000
[4EprlE ]
[Y=] 6,613,000
OR| a4 HCHSIALY( 6,613,000,000= 6,613,000
800 ojjH[H| 465,327 97,977 367,350
801 oflH|H| 465,327 97,977 367,350
801 OfjH|H| 465,327 97,977 367,350




2+ (200) A2 A2 E 3t : (800) Oijd|H|
M3t : (801) ofjuH] 2 : (301) ofju|H| (Che| : M9l
i 2
4 - of oy | BE= =5
2 -ME-2 O & o
=10
[&z] 465,327

ollHH| 465,327,000 = 465,327 465,327 97,977 367,350
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